Geomelry Name:
RAP — Chapter |

1. Draw an angle with the measure of 83° and clagsify the angle

A Cu’hﬁ-
35

~
”

2. The vertices of triangle ABC are A4(0,-2), B(5,-2), and C(8,2). Use the distance formula to
find the penmeter of triangle ABC.

T 1 = E . -
A= JGa = %) 4y 7> Re =\ (3-5)* + (2-¢-20>° hee\J(3-07+(z=C)

(5 -o)-+(-2-CN* - J[—b}t* i = wJ (&) + U
T . = ‘i ke s \) c”LH'“'
=& +o =Jas S50

= \’ 25 5_ ) -
s OCrcimeter S+5HEE =899

3. M is the midpoint of AB . The coordinates of A are (—2.3) and the coordinates of B are (4,-3).

Find the coordinates of M. <XI ¥y Z‘ + )"\

(2 3+c¢3> G 2). (] o)

4. 1f M(0,2) is the midpoint of 4B and the coordinates of 4 are (3,6), then find the coordinates

of B. K 3 Xa Yitys (-':in‘: L A YI) G CK"\\Y‘)

2 3. 3 ¢
g G +ye =Y (-3,%)
D e
5. If DM = 35, what?gtte)(falue%f S

" r+2 < r—13 . DGArGM= D,ﬂ

D 6] M

ri2 12c0-15= 357

3r-1l =38
31!- - L‘f"
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6. If <1 has a measure of 38°, what is the measure of its complement?
¥13§=490
X= S&

7. Write the inverse of the following statement:
“If you enter the Grand Prize drawing, then you will get nch.”
TL you oo nob enter Ghe Grond Prite chriing y Ebon you will not
f;u’&' Rl
8. Write the converse of the following statement:

“If you lower your cholesterol, then you eat Quirky oatmeal.”

TE you et Gh-'..r’-’y ar.'f:.-n[J 1Llen you will Lower ywr cholesters |

9. Write the contrapositive of the following statement:

“If you feed your dog Krazy Kibble, then it will grow three inches.” .
Tf yo ur al:-ﬁ doecs not b e > irches, Chen you Ao nol feed
[lrezy G bble.

10. Given each conditional, write the desired form:
a) I1'3 is a prime number, then it is odd. INVERSE
-I{" Y is not w Fr;‘m:. rumber, then 7b 15 net odL.

b) If two segments are congruent, then they have the same length. CONVERSE
T twe 5'3"""{ & ket .bl‘ s [;.,5{_-,1.) thaa ‘Ehc\, 4re Cong rueaT.

¢) If the weather is cloudy, then it will rain. CONTRAPOSITIVE L,
TL it willnot veiny Elan the weather 0> not Cloudy.

90°
11.Two angles are complementary. The measure of one angle is 15° more than twice the
other. What is the measure of the smaller angle?

A. 35° B. 65° C. 55°
X + 2%+15 = 90°
Ixtis =90
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12.The measure of two supplleanﬁentary angles are represented by (3x+15) and (2x-10).
What is the value of x? Y %3159 2% = 180
5x+8 =)§D ¥= 55
Sx=178

13.In the accompanying figure, two lines intersect, m21=2x+18, and m/2=8x-30. Find
the number of degrees inms4 . melimlY =180

llem i
o AX+18 Im i =50
= 3X-do 3 =
aAx+i8 ." . DY ymed =150
I = LX-20 6 L= 196
Yy =6X
X=g oo S
14.In the accompanying diagram, A8 and CD intersect at E. f mZAEC =4x—40 and
mZBED = x+ 30, find the number of degrees in ZAEC . c B

MLAEC =md BED

Ux-4o= X+SO mLlAGC= 4%-%0 E
3X= 40 4(30)-40 °
o A
X = 30 8o

15.Find the measure of each letter.

5.




Lx-5t X+ = /8D ml POR= Dx-5
Yx-Y=130 35‘"-)“5)
150

16.Points P, Q, and S are collinear. Ux= 1| 8“f
a. Whatis M4PQR+ X =46

b. If aray QT bisects £RQS, what will be the measure of one of
the resulting angles?

17.Points L, M, and N are collinear and M is between L and N. You are given LM =13

and LN = 20. What is a possible value of MN?  , -
Lmtmn= LA L v
1S +mA =20
MA =TT
18. Ray BD bisects LABC so that méDBC = (x + 6) and m& ABD = (2x - 12). What is
o AKX =12 =X+l #
X—JZ = b 2{“"
X=18 i oLl
19.Use the number line. T T =
a. Whatis KN + IK?
-4 =3 =-2~1 0 1 2 3 4

4y2 S
b. What is the coordinate of the midpoint of GO?

T

20.Use inductive reasoning to find the next two terms in the sequence. Describe the
pattern.

. -4.2.8.14,... 20,26 b RSl R =], =1
B e VAV
Add L 44 bl
21.Draw and label segment AB with midpoint C.
-——f———
K i€ 68
Use your drawing from above: IfAC =8x + 10 and CB = 10x — 6 find the value of x, AC and
AB.
Rx+0= [0x-¢ A= §(3)¥D Ars = 74474
rlo
—dx-6 G = 148
jo 24 14
4
Je=2x

X=g



22.M0 bisects 2LMN, msLMO = 42 —x and m2LMN = 6x + 22. Solve for x and find
m<LMN. The diagram is not to scale.

b L{2-x) = b xr22 X=776
Y- = bX F22 ml LN =Gxaet
Y= Xt L(276)1
M 6= € =085
Statimt 0§ e Given: £3= /4 C
NL3ZTLU D) briven
Vmld=me 2) Def T L. Prove: £1= 42

| 3) D€ of Linar Puin

Lzeet A'E.- . ) A .
q)“é“h“alﬂ; "0 Linear Peir Post B

plttm e =180 )
S = 5‘ 5% .-ch
b)hm“{é{.zmﬂ )
Qmblzmen |G) Subt Prop.

¥4 el =5,

1)¢i ¥ Sompatefepoct

Given: <]1= <3
Prove: <2 is supplementary to <3

i

T
Statements Reasons
A5 L Guven
2. wmllz=mlS 2. definition of congruent angles
3. <1 and <2 are a linear pair 3. DG“‘-‘ Lineer Puin
4, ml]l tm A =lg0 4. Linear Pair Postulate



3. wmlDim ld =80
__6. <2is quE!cmanary_ to <3

25.Find the value of the variable. Be sure to show your work.

1.

(3% — 40)

b2

{2x¢ —10)

3yY- Y0 =A%
¥ =YY= -lo

5 Subs_lituli_(m
[6.0ef of Supp 2.

(6y — 10)° | (By + 10)°

6y-—m+ by +10 =/%D
i:ly = /gD
y=e

X=
26.Ray BD bisects 2 ABC so that m&DBC = (5x - 9)° and m& ABD = (2x +27)°. What is
x? (hint: create a picture)

Rx+27= &x—19
d7=3x-9
36=0%

27.Write a proof: Xzl
Given: -B_J.{" bisects < ABC,
prove: <1=<3
S'ah-'ltnan t n cesON
w)fs'?c bisects LABC (V) Griven

D LIELA
3) LaTLCD

Y) LU=

A
44 2]

exA
2

7

A

2,) Dg'ﬁ o S Nrsector
-.:'D Va/“ll-'u-l LS ave =

‘-{) Trans atin pref

/B C

6



@ Using Algebra Find the value of the variable. Then use

substitution to find m/ABC. LN 5(49)428 = 43
54. 55. _ A ]s7 56. _ ¢ (5p+28° p
£ (6x + 19)° C /
A BA D E = ><
Bn A !
(9n = 5)° 0 SE" 2
= | &0 =
: £ oy F GY ¥l +x=18 gpn, ] P
X+ =180 25="1p
n=$§ 2y = 16l P =Y
m LA [')C =8n
= Yo Y =23
28.Find a counterexample for the following statement? "All even numbers are multiples
of 4."
@)
o =5
; | "
i

29. Scott has decided to add push-ups to his daily exercise -

routines. He has created a chart that shows how many push- -
ups he has done in a day. T
a. How many push-ups will he have on day 67 1 U]
IS s ]I
LI = I = gy ==
b. Make a conjecture about how many push-ups he has at : : :
any given day.
1 2 3 4 §
30. Find x
X ! S S 4Y4xtbt [0x+12X-1L=18D
V} Z ms6=4x+6,
8 5 \, m7=10x, Slx~( =180
U 4 w = -
me8 = 12x - 12 3)y=[8

)(:6 7

>
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Example: Write a two-column proof. C

Given: : ABC and .CBD are complementary. A
form a right angle. D
o ¢ BB
Prove: + ABC= .DBE *
S‘éh{"lm lw+ a':l- Sah B E
f)LA Bl L CvfbD ArFe C-.‘o l) Criven :
TR &« BE frm REYL 7) CARE T (1) OeF 2 L5
: .. DRE
3 ilimia= 1 2 0ck cmp £
L.
Yrevt =98 3) PeF €€
Ll) wi2imld =50° ¢ (-AD P\hs‘& hdd PorT
6) mé[=m (A E A
Complete each proof. f-) Sukhes prop E
1. 16ivedn: 4 : 1 5
an are
:omplerf\entcry. B 3 C
Prove: .2 = .3 D
Proof:
Statements Reasons
a. 1, <1and 3 are complementary a. (nive
b. éA e s RE L. b. Definition of 1
c. mz ABC= c. Def. of right angle
d. mz ABC=msl + me2 d. Hn;lc Add f#bt
e. 90 =msl+ms2 e. Substitution
f. <1 and (2 are compliments f. " ¢
g. 422 43 g. = Cmelc....hL— thesrem




7. Complete the following proof

Given: bisects bigects L ADL
Prove: <23 .3
Preof: Sbutzainta Rewsnm

D) EE)‘ Risceks LADC |) Given

a)LIE L

My LrEs
u) LLETLY

Given: <B 1s a right angle,
<C is a right angle,

2\] Dt anc- fosecten
W) Vb | L5 =

‘1’) Subsbibuton PP

<1z <4
- = | ¥
Prove: <2= <3 5 3
Gilighecss Rasan, D
Nis & ek T
le i red
AR ) peb =<5
1) pjj:m&q
‘5) Def ofF REL
3) mlB=50
wm e =90
Y) milimidsm D
meypmed=m LS
Shtltmir= 4o 5) Sub Prop
(Dt 04 =90
= f,) Sub P"F-
L) wtml 2= mdd i
7) miz=med 7) Subte prop

$) LA =L

3} Drﬁ = C'.‘S



